1. Just plug in to check

2. Just plug in to check
of
dy

3. f(x,y) =zIny and , and the point in question is (1,1). Both f and df/dy are

< |8

continuous at the point, therefore there exists a unique solution.

4. f(z,y) = 2* —y? and g—f = —2y , and the point in question is (0,1). Both f and df/dy
Y

are continuous at the point, therefore there exists a unique solution.

0
5. f(z,y) = 1+2*+y* and a—f = 2y , and the point in question is (0,2). Both f and df /0y
Y

are continuous at the point, therefore there exists a unique solution.

1
6. y:tan(C’—x——)
x

7. y=Csinzx
1
8 y=-1+
VC —3tan"!x
9. y = 2?sinz — 322

1 _3
10. y=—+4(2244)2
y=5+ (z° +4)
11. y = 3ze*

12. (z+e¥)’ =2224C

13. y = vCe* — 3zt — 1223 — 3622 — 72z + 72

14. 2y + /2?2 +4y? = Cx2

15. Just plug in to check



